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arti: Circle the correct answer (15 auestions 4 marks each) : ]
The volume of this rectangular prism is: ~
.I:I' 14 cm’ U=l rwyH
V= 7X2x5)
-.['::.;'«"-': ; Xllo —
il Z: —ZOCM . :

What}sthg expanded form of three and eight hundred forty-six thousandths:

33-32.29 =: Z ¥
- 36-3%
229

equation of this area model is:

200 +10+8
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i6) Look at the decimal grids complete the addition equation |
u ﬂ'lat is represented by the decimal grids.

b g78r; i o=

L'~‘tsl)07-l-(}‘35 123

J 7) Which equation represents the best estimate for 367 x 29?

y ngSS4 .3 miles to his grandmother’s house. They have driven
many more miles does Marcus'’s family drove?

51/3 2097
35/4 2/0 = I4ifmiles
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11) What is the difference? Use the decimal grids to solve.

0.31—007 = d
a) 0.35 d = O2¢

b) 0.34
(0b.24

d) 24

12) The amount of soil needed to ;'L': a flowerpot measure the:

a) Area
@Volume
c) Distance

d) Length

13) Which expression or value is equivalent to 10* ?
‘a) 1000
'b) 10x4

c))10 x 10 x 10 x 10

:=“x(3:‘2) Prism A
=@4x3)+2

-==c3°‘40)‘c3>‘2) Prism B:
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e multiplication expression using factors of 10. Then find the value.
L]
4.8x104L Y& o0

the p q_ 't? Use patterns to solve.

-




